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» MaxdepthZzZ3(CERET D & THMEKICHED Iz, TTHERE0.9L/ED0%%

%iﬁ\u—cd:-h_mT = MIT =RV

X[5] <= 7.4
gini = 0.66
samples = 310
value = [120, 105, 85]

X[2] <= 17.685 X[1] == 1.75
gini = 0.357 gini = 0.55
samples = 93 samples = 217
value = [14, 6, 73] value = [106, 99, 12]

= 0.0 X[5]<=6.15 X[2] <= 12.57 X[2] <= 19.835
gm = 0.¢ gini = 0.31 gini = 0.455 gini = 0.24
samples = 4
lue = [4, 0, 0] samples = 89 samples = 137 samples = 80
va 2 value = [10, 6, 73] value = [96, 30, 11] value = [10, 69, 1]
/ \ Y
gini=0.15 gini = 0.532 gini = 0.497 gini = 0.354 gini = 0.171 gini=0.32
samples = 62 samples = 27 samples = 37 samples = 100 samples = 75 samples = 5
value = [1, 4, 57] value = [9, 2, 16] value = [17, 20, 0] value = [79, 10, 11] value = [6, 68, 1] value = [4, 1, 0]
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